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Multiple Choice Questions

Radius of a circle with centre O is 4 cm. If I(OP) = 4.2 cm, say where point P will lie.
A) on the centre B) inside the circle C) outside the circle D) on the circle

Length of a chord of a circle is 24 cm. If distance of the chord from the centre is 5 cm, then the radius of that circle
is
A) 12 cm B) I3 cm C) 14 cm D) 15cm

Radius of a circle is 10 cm and distance of a chord from the centre is 6 cm. Hence the length of the chord is

b

A) 16 cm B) 8 cm C) 12 cm D) 32 cm

The length of the longest chord of the circle with radius 2.9 cm is
A)3.5cm B) 7cm C) 10 cm D) 5.8 cm

Attempt the following

Radius of circle is 10 cm. There are two chords of length 16 cm each. What will be the distance of these chords
from the centre of the circle?
Given:- (1) A circle with centre P and radius 10 cm

(2) Chord AB = Chord CD

(3)AB=CD=16 cm

(4) seg PM 1 chord AB. A-M-B

(5) chord PN L chord CD, C-N-D

o

e.

To Find:- PM and PN.
Solution:-PA=10cm -

AM=__ [Perpendicular drown form the centre to the chord bisects the chord]
AM=1x16=
> -
In APMA, £PMA = 90° ----= [~ PM Lchord AB, given]
e [Pythagoras theorem]|
10% = PM? + 82
100 — 64 = PM?
PM? = 36
PM=_ e [Taking square roots]
PN=PM

PN = 6cm.




2 Diameter of a circle is 26 cm and length of a chord of the circle is 24 cm. Find the distance of the chord from the
centre.
Given:- (1) A circle with centre and diameter 26 cm
(2) Length of chord CD =24 cm
(3)seg PM 1 chord CD,C-M-D

P
C M D
To Find:- PM
Diameter of circle = 26cm ... [Given]
Radius of the circle =
PC=13cm
CM=__ ... [Perpendicular drawn from the centre to the chord bisects the chord]
1
CM= > 24
CM=__
In APMC, £PMC = 90° ... [Given]
. PC?= ... [Pythagoras theorem]
132=PM? + 122
_ =PM?
PM? =25
PM= ... [ Taking square roots]

3 Inthe adjoining figure, centre of two circles is O. Chord AB of bigger
circle intersects the smaller circle in points P and Q. Show that AP = BQ

>
T,

éj— - 90
o
(os)

Prove that:- AP = BQ
Construction: Draw seg OM L chord AB, A—M -B

Proof:-

1) In the bigger circle, seg OM L chordAB - .

)~ AM=BM

3) In the smaller circle, seg OM L chordPQ - [Construction]

4) e [Perpendicular drawn from the centre
of the circle to the chord bisects the chord]

55 AM-PM=__ e [Subtracting (4) form (2)]

6) ~AP=BQ e 1]

4 Prove that, if a diameter of a circle bisects two chords of the circle then those two chords are parallel of each other.
Given: (1) A circle with centre ‘O’

(2) Diameter AB intersects chord AB and chord CD at points P and Q respectively. (3) AP =BP and
CQ=DQ.
To Prove: Chord AB | chord CD
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Proof:
1)AP=BP [Given]
2)i.e. seg OP bisect chord AB - [from (1)]
3) segOP L chord AB  -—---
4)ie. £OPB=90° [From (3)]
5CQ=____ [Given}
6) i.e. seg OQ bisects chord CD.  -—--- [From (5)]
e e [segment joining center of the circle and midpoint of the chord is
perpendicular to the chord.]
8)ieOQC=___ e [From (7)]
9) 2OPB+  =90°+90°=180" - [Adding (4) and (8) from (9) and O-Q-P]
10)i.e. zZQPB+2PQC= - [Interior angle test ]
11)chord ABI
Answer the following. 12

Radius of the circle is 34 cm and the distance of the chord from the centre is 30 cm, Find the length of the chord.
Construct APQR such that P =70°, ZR = 50°, QR = 7.3 c¢m. and construct its circumcircle.
Construct AABC such that 2B = 100, BC = 6.4 cm and 2C = 50° Draw incircle of this triangle.

Answer the following 6

Prove: The chords of a circle equidistant from the centre of a circle are congruent.

Distance of chord AB from the centre of a circle is 8 cm. Length of the chord AB is 12 cm. Find the diameter of the
circle.



